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24.6 =12
D 2.05%x12=24.6 @ 25x12=246
® 205x12 =246 @ 25x12=124.6

B 122 +6 = 24.6
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8.01 +9=0.89

® 8.01+9=0.89
® 0.89 -9 =8.01

3 0.80 =9 —=2801

@ 0.89+9 =8.01

@ 0.89x9 =8.01
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® 0.84+3 @ 53.29+18 ® 0.28+8

@ 3846 =5 ® 16 =6
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@ 12=7 @ 6+8
@ 73 =16 3 12.78 =3
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@ 42-+4 ® 42.3+3

® 153=6
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6.3 + 18
® 0.35+18=6.3 @ 35%x18=6.3
@ 35x18=6.3 @ 0.35x18=6.3

3 0.035x 18 = 6.3
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Mo

® 042+6 ® 312+2 ® 054+5

@ 6.4=8 B 4.8 ~6
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e FA7E 1.2kg 4 W, SR & B FAE R kg A
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D 96+24-1.2 @ 9.6+24+1.2

® 9.6-1.2+24 @ (9.6-1.2)+24

® (96+1.2)+24
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@ 6=8
@ 30 = 40

3 10+ 16
B 48 = 64
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@ 3.563 @ 3.547 3 3.374 @ 3.295 ® 3.108
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@ 3.78 @ 3.135 3 3.56 @ 3.98 ® 3.24
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